NIKON Z9

TILT A BT



01 irine%

[

@ NATOBRME]

@ /4=

@ 1/4Eg3l

@ MESENERIHE

@ M43l

@ EHEn

@ /483

@ mHEn

© 1aEfIl
RHED
[T e AT S/
SRR S

@ suEn

@ 11413,

® vazhil

Q@ —FiruRF

[FIEOR M T EEBROIFEI T8,

BB ] TR D &4 ]
O nsEEEDR
O 14530

L2ERATET I
J]

4./ NATOiB%
(=)
AYMETILTAINGRIFA
a e

C,—8 1433,
/ b [Z=m)
[(ER1AELFUBREA]

E/Afmmn B—)
k=L

[EER1/4RNFLEXE M

(A= TR/ SE/E e/
B RERM]




33399333333373333390

02 FOR NIKON Z9

EMoRRIRA
NKOO1 | BEEZ92% TA-T31-FCC-B
NKO002 | Tiltaing# B EFig TA-QRTH2-B
NKO003 | FENATOEKM-%(H) | TA-AHAG-L(R)-B
NK004 | REFIE TA-LWH-B
NKOO5 | &t TA-CSR
NK006 | B FEIFE-E TA-LRH-57-B
NKO0O07 | 19mmIiEEE TA-BSP-19-B
NKO008 | 19*200mmS4h R19-200-B
NK009 | 15mmEse TA-DRH-B
NKO10 | 15*200mmEh R15-200-B
NKO11 | JEREBERFLF1 TA-BSRA-15-B
NKO012 | Natoig&#36mm TA-NRA-36-B
NKO13 | IREERHIFIA-H TA-RFH-57-B




BEENENDREZI2E.

BHR—FIRTF, HRLYH
EFRBONIEETL, 5

FELRFHREFLN EN=RER, BREM2.5840 BT RREOMNE
EEF ERMER. (BEFRUHEEL)

BRARFEIBRM T REBA, HEES.
(e AT P B o & 36 - B R T IR 3D)




> I RIEIB &
EFREDREMFREES, TEMRERE FIRER/MRE.




SERNEESHEXNTYTRREMHER.




06 =zEmLFE |

BOLEFREAEFRBH1/4EMIAL,
FiRRH HEOIEH N EIRLTRER .

(A= RIS
MBI RFNLRERM]

) L
7.7
0=

15mmEHIEE AL

==
[emEvFR s Rk () |




07

=t

7

AEF

1.56MFDNatoiB KIER
HFH, BOARERFHER
2BNENBE.

))))))))))))))

RS

2EANEFEQTENTRNSER.

A XS R fEIT RIRLLED B SR AR L




‘@
)

' - ] \
f
FRANATORER M (2)

)

w

REFIRRIAEType-c 8V, DC OUT 12VEHEIHZD, IMEREBERRIRE
UERRERE MEAHEERIEEMIREIRE, BT,

1.5 FF DNato B RIER T4,
BROFRELBAENBS.

2. BN EQFHRI AT TR MR .




ZEBM15MmER

(1) B15MMEREREREFH1/4RKI L, EER15MMSH
HRRARINGE .

(2) 15mmERERERERK M
AERERFEENMARLIE.

ZEB19mMm/EE
(AR 19mMmEH]

BEOR2HE, BSREQBNEFRE
RO FHFMER .




S|

I
In‘ FULL CAGE M

ANUAL ‘

@ VATO il (eft side arm)

1/4” ~20 screw holes with
locating points

@© 14" 20 sorew hole
@ Locating pin hole (back)

@ W4 screw hole

@ strap holder

@ /4" 20 screw hole

@ st strap holder

1/4” ~20 screw holes with
locating points

@ Cold shoe mount (right side arm)

{for mounting monitor bracke,
microphone, wireless video unit,
LED ligh, ete.]

0 Cold shoe mount (top)

{for mounting monitor bracke,
microphone, wireless video uni,
LED light, etc.]

@ 114" 20 screw hole

1/4” ~20 screw holes with

locating points

Magnetic flat head screwdriver

[can be stored on the bottom of the
vera cage. Coin can be used as a

replacement]

@ security mounting hole (bottom)

@ 1147 -20screwnole

DETAILS »)»

J]

NATO rail
[left side]

For mounting Titaing side
handie attachment.

C—B 1/4” -20 screw
/ S hole
[left side]
Compaible with accessories
inarse 14" —20 scrow oles
Wihlocatng pons.

1/4” ~20 screw

hole with locating
points

[right side]

Compatible with accessories
{hat se 14" 20 sorew holes
wih locating points.

[right side]

for mounting monitor bracket,
‘microphone, wireless video nit,
LED igh, efc.




33333333333373333390

11/ FOR NIKON 29

39

OVERVIEW

\[oX OD!I NAME

NKOO01 | Full Camera Cage for Nikon 79 TA-T31-FCC-B
Tiltaing Lightweight Quick Release - -

NKo02 Top Handle with Arri Locating Pins TA-QRTH2-B
Tiltaing Advanced Side Handle _ - -

NKO003 | atizchment Type Vi TA-AHA6-L(R)-B

NKOO04 | Tittaing Left Side Wooden Handle TA-LWH-B

NKOO5 | Tittaing Cold Shoe Receiver Attachment | TA-CSR

Tiltaing Left Side Advanced Power - 57—
NKOOS | Handle with Run/Stop (F570 Battery) | TALRH-57-B

NKOO7 | Titaing 19mm Studio Baseplate Type | TA-BSP-19-B
NKO008 | Aluminum Rod 19*200mm R19-200-B
Tiltaing Dual 15mm Rod Holder - ]
NK009 Attachment TA-DRH-B
NKO10 | Aluminum Rod 15*200mm R15-200-B

NKO11 | Tittaing 15mm Bottom Single Rod Holder | TA-BSRA-15-B

Tiltaing Right Side Advanced Focus ] —36-1
NKO12 Handle(F570 Battery) TA-NRA-36-8

NKO013 | Tittaing 36mm NATO Rail Attachment TA-RFH-57-B




3333939393999

[
Iz ‘ INSTALLING THE CAGE ‘

Place the camera into (1) the full camera
cage.

Take out @ the flat head screwdriver
from the bottom of the camera cage.
Insert the screw into the screw hole
and tighten the screw.

Uninstall the originat strap ring on the camera. Insert @ the M2.5 screws
into the strap ring holders and tighten the screws to the camera cage.
(Both sides of the camera cage have stap ring holders.)

The magnetic screwdriver can be stored
under the bottom of the camera cage.
(A coin can be used as a replacement.)




» Arca—Swiss Standard Dovetail

The ARCA- Swiss dovetail at the bottom of the camera cage is
compatible with the quick release on gimbals, tripods, etc.




Tiltaing Compact NATO Top Handle
(TA-QRTH7-B)

When the camera cage is used vertically, the top and bottom sections of
the cage can function as mounting areas for the side arms.

Titaing Lightweight Quick Release
Top Hande wih ArriLocating Pins
(TA-QRTH?-B)




]

T
Is‘ INSTALLING THE TOP HANDLE ‘

Slide @) the top handle into the cold shoe mount on top of the
camera cage until the 1/4"-20 locating point is aligned.

Cold Shoe Mount Tighten @ the tie—down screw.
[For mounting microphone, additional

light, wireless video unit, monitor bracket,
phone bracket, etc.]

ey P

15mm Rod Holder
[Supports EVF bracket and other
accessories.]




))))))))))))))

T
I ﬁ INSTALLING WOODEN HANDLE &
COLD SHOE RECEIVER ATTACHMENT
L |

= 45? =
[ gt "7

b=
ol
78 ‘\\ i

gl
(-vml‘

1. Loosen the tie down
on the 1 side handle
attachment and slide the
2 wooden handle onto
the NATO rail on the left
side of the cage.

3. Align the cold shoe receiver attachment with the 1/4” 20 screw hole on top of 4. Tighten the tie down screw.
the wooden handle.




T
I7 INSTALLING SIDE HANDLE &
SIDE HANDLE ATTACHMENT

(\\

M
i
(A

~ . ==,
B ) 1. Loosen the tie down on the (1 side handle attachment |/i“ ( /
Press the release to adjust the and slide the 2 wooden handle onto the NATO rail on the ol IE
handle 360° . left side of the cage.

If

i~

(A
Tiltaing Advanced Left
Side Handle Attachment
Type VI

= =W
VY

=,
T
The focus handle has USB-C 8V and DC 12V outputs. Please check and connect your ="
equipment accordingly. Tilta is not responsible for any user errors.

2. Tighten the (3 tie down screw.




S |

[
I s INSTALLING 19MM ROD HOLDER
&15MM ROD HOLDER

Installing @ 15mm Rod Holder

(1) Install the 15mm rod holder to the 1/4"~20 screw holes on the
camera cage.

(2) Mount the rod holder extension
with the 15mm rod holder to the M4
screw holes on the back of the camera
cage.

Installing B19mm Rod Holder
(For mounting 19mm rods.)

Press (1) the safety pin, and slide @ the baseplate
onto the bottom of the camera cage. Tighten @
the tie down.




TILTA FOR NIKON Z9



